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Nothing on account of nyarnan, ete. - 9910 MITEan o NY

OVERVIEW

The Xn>>12 states that an 70° is only composed of %91 °°50; not other Moo
that Jews are forbidden to marry. The X072 enumerates many, but not all
the 277 709, Our Moo will mention and explain why other 7P *2100 were
not included in the Xn>"2.
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The reason he did not mention a8y 17%¥;' that an 70 (N15X) has no
intermingling of an "2X¥1 "1y, because there is no set ruling for “1ny
"X, for male members of 22X Ny are forbidden to marry Jewish

women; while females are permitted to marry Jewish men. Therefore he could
not state that an 79y does not have any *axm1 *1nmy; for indeed they may contain N1y
noaRm who are 27p2 nn.

mdoIN anticipates a similar question:
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And the reason he does not mention that an 70°¥ (n1%X) has no
intermingling of a 7Ry "Mx», (is for the same reason Xp°05 R27), for they

are forbidden 27372 X127 only up to the third generation of converted ox»
DMIRY; from "w5w M7 onwards they are permitted 27p2 X129, Therefore he could not
simply state that there is no *»17X1 *3%¥n in an 770°Y, for there can be a *wH5w MR XN,

SUMMARY
The Xn72 does not mention MR *7X7 2RI "NNY, since their prohibition is
limited, and not universal.

THINKING IT OVER

If an "1y marries a N*9X ", is she 71727 NNM? Is an AN NN NeAY? It
would seem that in all cases she is 7117197 770K, so why not mention it?! Can
we connect this to X071 Moo of 110" as opposed to 'Oy NIAHR'?

" The 77N states (7,33 [X¥n] 0™27) that '3 7p3 2% "y X2 &2 However there is a (2,7 2°¥9) nwn7 that
AR K2 AR DAY R CNny; that the woman are 273p2 ann. [This is how 112 was able to marry
(maran).]

? In the w"x"77 MdOIN the words 1 TRY *1¥7 are (also) written before X090 K77 D1Wwn.

? See v 11,30 (X¥Nn) 0127 which states; 71 5P DY X2 *WWSW N7 A2 1791 WK 0212 13 8D N3 MITR 2NN K.
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